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Recitation (7.5)

Question 2 Find the exact value of sec‘l(—2)+tan‘1(tan3?ﬁj Answer: —

2x\/1 X2

Question 3: Verify the identity ~ tan(2008™" x) =" —

Solution:
Let e =cos'x = cosa=X = cosasz V1- &

tan (Zcos’l X ) =tan2a

_sin2a _ 2sinacosa Z(Vl—xz)x _2x1-x?
S cos2a  2cosla—-1  2x%-1  2x%-1
Another Method:
tan(2cos™ x ) = tan 2«

1-x°
_ 2tana _2 x _ 2XV1-x?  2x+1-x°
1-tan’«a 1_1—x2 x2—(1-x?)  2x?-1
X2

Question 4: Which one of the following statements is FALSE ?
A)  sin7(sinx) = x, 0<x<2r7

_ 11
B) sec'x=cos'=, x<-1orx>1

X
1 V4 ,1
C) cot "X = ——tan "X, —00 < X <00
. 1
D) CSC "X = sSIn— —, x<-1 or x=>1
X
E) sin”(-x) =-sin"x, -1<x<1
uestion 5 csc? -2V3 +cos‘1(sin£J:
3 5
A) z D) 2r
20 15
o -2 o
15 20
T
C -
) 30

KFUPM, Math 002 Recitation 7.5, Term 142, Answered by Sayed Omar, Page 1/1 06-Apr-15



